Adurino E{E Ch02-
Shield 1€tk D10~12 MIIE{E 01
A MRIEESK - Uno iR +1EF il -
B.EREH : Shield 5tk D10~12 =R 1TAIZH -
C.22VARHS -

void setup() {

pinMode(10,0UTPUT);
pinMode(11,0UTPUT);
pinMode(12,0UTPUT);

}

void loop() {

digitalWrite(10,HIGH); //HIGH ~ LOW 2 0 ~ 1
digitalWrite(11,HIGH);
digitalWrite(12,HIGH);

delay(1000);

digitalWrite(10,LOW);

digitalWrite(11,LOW);

digitalWrite(12,LOW);

delay(1000);

}

D.#1TAUR : #&F8hk D10~12 SR %EHl -
E.GEFEERIE : LEIZBEUT - 2.D10~12 I =lE (BB I8 W) -

const byte x = 10;
const bytev = 11;
const bytez = 12;

void setup() {
pinMode(X,OUTPUT);
pinMode(Y,OUTPUT);
pinMode(Z,0UTPUT);




